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630: POPULATION THEORIES 

 
Time: Three hours                                    Maximum: 100 marks 

 
                   SECTION – A  

                  Answer any FIVE questions. 

 
 (5   8 = 40) 

 

1.  Explain pre-Malthusian views on population. 

2.  Describe Marxian criticism against Malthus’ theory. 

3.  Explain Biological theories of population. 

4.  Explain Geni’s theory of population. 

5.  Explain Castro’s theory of protein consumption. 

6.  Describe the theory of change and response. 

7.  Discuss the theory of diffusion or cultural lag. 

8.  Discuss Caldwell’s model. 

     

SECTION – B  
                                      Answer any THREE questions.             (3   20 = 60) 

 
9.  Discuss the theory of demographic transition and its relevance to India.  

10.  What are the salient features of optimum population? On what grounds this 
theory is criticised. 

11.  Critically examine Becker’s theory of population. 

12.  Discuss briefly Leibensteins critical Minimum Effort Thesis. 

13.  State briefly about the Coale and Heover Model. 
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jkpHhf;fk; 
 

                       gFjp - m  
                                     vitnaDk; Ie;J tpdhf;fSf;F tpilaspf;ft[k;.  

 

(5   8 = 40) 

 

1.  khy;j!pf;F Kw;gl;l mwp"h;fspd; fUj;Jf;fs; gw;wp tpsf;Ff. 

2.  khy;j!; nfhl;ghl;il khh;fp!;Lfs; vt;thW jpwdha;t[ bra;fpwhh;fs; tpthp. 

3.  caphpay; rhh;e;j kf;fs; bjhif nfhl;ghLfs; gw;wp tpthp. 

4.  fpdpapd; nfhl;ghl;oid tpthp. 

5.  nf!;l;nuhtpd; g[uj Efh;t[ nfhl;ghL gw;wp tpthp. 

6.  khWghL kw;Wk; gpujpgypg;g[ nfhl;ghl;il tpthp. 

7.  gut[jy; my;yJ gz;ghL gpd; j';Fjy; nfhl;ghl;il tpthp. 

8.  fhy;Lbty; fUj;J khjphpia gw;wp tpsf;Ff. 

 
gFjp - M 

   vitnaDk; _d;W tpdhf;fSf;F tpilaspf;ft[k;.  
 

9.  kf;fs; bjhif khWk; nfhl;ghl;oida[k; mJ ,e;jpaht[f;F bghUe;Jkh 
vd;gija[k; tpthp. 

10.  cj;jk kf;fs; nfhl;ghl;od; rpwg;ghd gz;g[fs; ahit? ,e;j nfhl;ghl;il 
vjd; mog;gilapy; Fiwfz;L gpof;fg;gl;lJ. 

11.  ngf;fhpd; nfhl;ghL gw;wp jpwdha;t[ bra;f. 

12.  ypbgd;!;od; Fiwe;j Kaw;rp nfhl;ghL gw;wp RUf;fkhf vGJf. 

13.  nfhy; kw;Wk; APthpd; kf;fs; bjhif fUj;J khjphpfs; gw;wp rpW Fwpg;g[ tiuf. 
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(3   20 = 60) 
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